ATOMIC ENERGY CENTRAL SCHOOL No.-4, RAWATBHATA
Confidence Exam (2018-19)
Subject : English

Class -V Section : Date: 19/02/2019
Name of the student : Roll No:
Invigilator’s sign: Time — 3 Hours
Examiner’s sign: MM:80 MO:
I. READING:
1.Read the passage and answer the questions that follow: 10

It was the day after Thanksgiving, and Bobby Bear was so excited. His grandparents
were visiting from Florida. They took Bobby Bear Christmas shopping. They rode the
subway from Bobby’s house into the city. When they got off the subway, Bobby
could see people everywhere. The people were carrying bags, presents, and
Christmas decorations.

Christmas is Bobby Bear’s favourite time of year, because he loves the holiday
decorations. Bobby Bear’'s grandparents took him to three stores. He bought his
mother a new robe, his father a new shirt, and his baby sister a new teddy bear.

Next, Bobby Bear’s grandparents took him to eat pizza for lunch. Bobby ate
pepperoni pizza. For dessert, he had ice cream. After lunch, Bobby Bear and his
grandparents went ice-skating. The ice-skating rink was outside. Bobby had never
been ice-skating before, and he really liked it.

Bobby slept during the subway ride home. When he got home, there were boxes of
Christmas decorations ready to unpack. His family decorated their house for
Christmas that night. When they finished the decorating, they built a fire in the
fireplace and sang hristmas carols. It was a wonderful day.

1.This story takes place
a. on a summer night in Februaw
b. on the day after Thanksgiving
c. on Christmas Day
d. on Thanksgiving night

2. Who went shopping with Bobby Bear?
a. his mother b. his grandparents
c. his baby sister d. his father



. What did Bobby eat for lunch?
a. ice cream b. hot dogs

C. pizza d. bothaand c

. How did Bobby and his grandparents travel to the city?
a. the subway b. a taxi

c. a bus d. an airplane

. Why did Bobby Bear’s grandparents take him to the city?
a. to go shopping b. to go ice-skating

c. to eat lunch d. all of these

. Bobby had never been

a. ice-skating before b. to eat pizza before

c. shopping before d. to Florida before

. What did Bobby Bear see when he got off the subway?
a. the stores b. people

C. an ice-skating rink d. the pizza place

. Who did Bobby Bear buy a robe for?
a. his teacher b. his sister

c. his father d. his mother

. Why do you think Bobby slept on the way home?
a. He was very hungry. b. He was tired.

c. He was sick. d. He was happy.

10. What did Bobby Bear’s family do that night?

a. They went to the movies.
b. They ate popcorn.
c. They decorated their house for Christmas.

d. They ate their Thanksgiving meal.



2. Read the following passage and answer the questions that follow: 5

A king is called a Ningthou and a queen is called a Leima in Manipuri. Long, long
ago in the land of Kangleipak inManipur, there lived a Ningthou and a Leima. They
were loved dearly by the people. Even they never stopped thinking about their
meeyam, their people. The birds and animals too loved the Ningthou and Leima.

Their beloved king and queen had three sons:Sanajaoba, Sanayaima and
Sanatomba.Twelve years later, they had a daughter named Sanatombi. She was a
lovely child, soft and beautiful inside. The years went by, and the children grew up
well. Then came the time to decide the ThungiNingthou, the future king.They
wanted to have a contest to select the future king

1. Write the words used to describe Sanatombi.

and

2. The language spoken in Manipur is

3. People of Kangleipak their king and queen. (loved/hated)

4. Which word in the passage mean the opposite of:

past X hard x

5. Which word in the passage mean:

competition -

3. Read the following passage and answer the questions that follow: 5

Once there was a small boy called Hari. He pinched all the children so all the
children hated him. One day all the children go to picnic to the seaside for a whole
day. But nobody wanted to sit next to Hari because he always pinched. So he was
angry. He sat down a sandy corner near a rocky pool. He saw a monster crab
walking sideways out of the pool. The lobster took his hand in his mouth and great

pincer him so he was running away quickly.



1. What was the name of the small boy?

2. Where did all the children go one day?

3. Why did all the children hate Hari?

4. Write the opposite of hate?

5. Write the plural from of child.

I1. PROSE AND POETRY:
Answer the following:
1. Why did the barber want a lot of food?

10

2. Why did the men rush back to the ship?

3. How can you say that Hari had no friends?

4. Why do you think all these people are in a hurry?




5. Match the following:

Leima future king
Thungi Ningthou queen

Meeyam king’s daughter
Sanatombi people

Read the poem:
High up in an icy lair
Lived a little polar bear
Snow white, snow bright was her mane,

MaluBhalu was her name.
6. Name the poem and the poet.
A. Poem: B. Poet:

7. Where did the polar bear live?

8. Write a detailed character sketch of Malu Bhalu.




III. GRAMMAR: 10
Rewrite as directed:
1. The crow in search of water(was/were). It a pot of
water (see/saw). (Choose the right word and fill in the blanks)

2. Ravi went to the party with Ravi’s brother as Ravi’s friend has called both

Ravi and Ravi’s brother. ( Rewrite using suitable pronouns instead of

underlined words)

3. The sang beautifully. (group/choir)
The hunter shot at the of birds. (flock/herd)

4. The small train went with maximum speed and appeared_at the station.

5. Megha is quiet, while Nirav is talkative. But they both are good friends.
(underline the describing words in the above sentence Q. 4 & 5)

6. Raju Ravi ran fast, they missed the bus.

(Fill in the blanks with suitable joining words)

7. the, the, earth, round, goes. (Arrange the words to make a meaningful
sentence)

8. The boy was as as a tortoise.
Her frock is as white as

(Fill in the blanks with suitable similes)

9. (i) Rohit is than Mohan.(short)
(ii) America is the country in the world. (rich)

(Fill in the blanks with the correct form of the word given)

10. the dog wags its tail when its pleased but a cat waves its tail when its
angry

(Punctuate the sentence and write again)



11. Write the correct degree of comparison in the blank : 5

1. This food is . (delicious, more delicious, the most delicious)
2. The black bear is among all the other bears. ( fat, fatter, the fattest)
3. Jane is than Peter.  (friendly, friendlier, friendliest)

4. Rover is of Mr. Lee’s four dogs. (small, smaller, the smallest)
5. The coconut tree is than the oil palm. (tall, taller, tallest)
IV. CREATIVE WRITING 10

1. Few sentences got mixed up. Sort them out and write them in appropriate boxes
in the correct order to make two meaningful stories. Give suitable title to the
stories:

1. The hare ran, but the tortoise crawled.

2. Moral: Slow and steady wins the race.

3. The grapes were quite high.

4. Seeing the tortoise far behind, the hare slept near a bush.

5. Once a fox was passing by a grape garden.

6. He saw bunches of juicy grapes hanging from the vines.

7. Once the hare and the tortoise wanted to have a race.

8. It tried hard to reach the grapes.

9. He said to himself, “The grapes are sour”

10. The tortoise crawled continuously and reached the milestone first.




2. Imagine a topsy-turvy scene and describe it in the space given.

V. Vocabulary

1. Find the opposites of the following words:
(a) Minimum speed
(b) Moved forward
(c) Disappeared
(d) Lowest

2. Add the correct prefix to the words given in the bracket and complete the

following:

[ im, re, dis, un ]

1. Jack the gifts. (wrapped)

2. Asha had to her Home-work. (write)

3. Ashok his books. (arranged)

4. We should not drink water. (pure)
3. Write some words which rhyme with these words: -

L.1and

A - |

3.boat

10



4. Make words ending with —less and —ly:

1. light

2. home

3. pain

4. angry

VI . SPELLING: 10

1. Rewrite the following sentences with the opposites of the underlined words:

1. The arrival of the train is at 6 pm.

2. He always comes late.

2. correct jumbled word and write correct word

a) ape par - b) Ipmortnat -

c)psosb I le - d) knld -
3. Fill the missing letters:

a)Hariwasab___ Il ____

b) Thelo____ ___ terpinched Hari very badly.

c) The farmer’s wife covered Gulliver with a clean ha___ dker___ hief.

d)The barber wast __lka ___ive.



VII. HANDWRITING: 5
Rewrite the following in neat handwriting:

The Himalayas are a wonderful line of mountains. The mountains are huge, steep
and snow-white. If you see them, you will never forget their beauty. Sometimes we
call the Himalayas ‘the roof of the world’ because they are the highest mountains on
earth. For many years Sherpa traders carried rice and salt through the mountain
passes. But most people did not try to cross the Himalayas. For a long time, no one
knew which was the highest mountain of all. In 1852, the Survey of India measured
the height of the mountains. It found that Mount Everest was the highest mountain
in the world.
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ATOMIC ENERGY CENTRAL SCHOOL No.-4, RAWATBHATA
Confidence Exam (2018-19)
Subject : Maths

Class -V Section : Date: 22/02/2019
Name of the student : Roll No:
Invigilator’s sign: Time — 3 Hours
Examiner’s sign: MM:80 MO:

SECTION- A (KNOWLEDGE) - 20M

Q I. Choose the correct answer and fill in the blaks. (1 x 5=5M)
1. Uttarakhand and Himachal Pradesh lies to the of the country.
a. East b. West c. North d.South ()

2. The distance between Kota and Delhi is 4 cm on mahe actual distance between them is

.(scale 1cm = 150 km)
a. 450 km b. 500 km c. 600 km d. 300 km ()

3. Rakhi needs 35 cm more to reach a height 2. Her present height is
a. 195cm b.215cm c. 165 cm d. 185¢c ()

4. Carefully look at the figure. The hottest ay is

25°C__|

20°C |
15°C |
10°C __|

50C é g o )

— | & S 3 £

= 8 7

a. Jaipur b. Shimla c. Delhi d. Bangalore ()
5.The length of the lady finger is cm.

—

UV VAR 0D u||||h1||||wu||u|1||||||-||u|u.||||||ﬁ1|||p£|ulqllmllpaﬂluq|uml|mlmumqwmw5}lw:7 1
o 4 =2 B a4 =S, 6 T S 10 11 12 13 14 45 16 47 18 19 20 29 22 23 24 25

a. 12.5 b. 10.5 c.14.5 d. 10 ()



QIl. Match the following. (/2 x 6 =3M)

a) 5 paise 1. Rupeés

b) rupee %2 2. Rupedo

c) Rupee % 3. Rupxé5

d) Rupee 1/10 4. Rep@50

e) Rupee 5 5. 1300 paise

f) Rupees 13 6. 500 paise

a- b- c- d- e- -

Q lII. Fill in the blanks. (1 x4 =4M)

a. A 40 m wire is required to fence a square garde then each side of the garden

m long.

b. 11m 5 cm is equal to metres.

c. The difference between the temperatures 39.9°Gind 24.8°C is

d. The area ofA Is 1 square cm. Then theea of the design is . &

QIV. Do as directed. (2 x 4= 8M)

1. How many square stamps of side 5 cm can fit on togage of length 70 cm and breadth
40 cm?

ANS.

2. The cost of an ice cream is Rs.32.50. What istlhost of 9 ice-cream?

ANS.



3. Find the area of the following figures irsquare cm.

ATIN
N

AN B

Area of A: Area of B:

4. Find the perimeter of the following figures .Eah square is of side 1cm.

H- L]

A B

Perimeter of A: Perimeter of B:

SECTION- B (UNDERSTANDING) - 20M

Q I. Choose the correct answer and fill in the blaks. (1 x 5=5M)

1. The net of the given solid shape is ‘ ‘

a. é Xeo H o c.I:H:I d

2. 1centimetre = 1/100 of a

a. km b. metre c.cm dmm ()

3. 11 kilograms = gms.

a. 1100 b. 11100 c.110 d.11000 ()

4. By how much is 24°C greater than 16.4°C?
a.5.4°C b.6.6°C c.7.6°C d.4C ()



5. Look at the chapatti chart below.

Hobby

m drawing

m dancing
20 .
singing
- ® music

is the hobby of most of the childre

a. Drawing b. music c.singing  d. dancing ( )

Q.II. Do as directed. (2x6=12m)

1. Draw two shapes that can be folded to make a ceb

2. How many dice of edge 2 cm will fit into a boxfadimensions 15 cm x 8cm x 20 cm ?



3. How many cubes are needed to make timdel?

Ans: cubes

4. Represent the shaded portion as decimal.

10

5. Divide 3675 by 11.

6. Represent the same design in %2 cm grid.

\
\
/

QIIl. State * True’ or ‘False’. (1/2 x 6 =23)

a. There is no state to the west of Gujarat.

b. A cube has 5 corners.

c. There are 100 cm in a millimeter.

d. 3 weeks 4 days is equal to 25 days. (
e. The space occupied by a solid is its volume. (

f. The area of square of side 1 cm is 4 square ceneters. (



SECTION- C (ABILITY TO COMPUTE) - 20M

I. Do as directed. (2x7=14m)

1.1f 1 cm on the map shows 60 km on the ground, usiee scale to find out:
0] cm = 150 km (iN20 cm = km.

2.The favourite sport of some children are given ithe table. Study the table and

answer the following questions. Mearschildren.
Colours Tally Marks
Hockey ‘
Cricket ‘
Football
Table Tennis
a. sport is liked by most of the children
b. children like Hockey.
C. sport is liked by least of the childne

d. How many children are there in all?

Q.3. Look at the floor map of a house. Make doorsral windows on the deep drawing of this house.

window —~

p —N

[

Q.4. A five rupee coin weighs 9 grams. What is theeight of a sack with 2000 coins?

door

Q.5. Change the following into appropriate units.

a) 97cm= m )OO cm = mm



Q.6.The value of one Euro is Rs. 72.50 in Indian aency.Raj’s uncle send 150 euros every month.
Raj uses Rs. 9500 every month and saves the resbwimuch money does Raj save every month in
rupees?

Ans.

Q.7. Write the decimal number.
a) 30+7+ 60/100 =
b) 700+0+9+ 3/10 + 5/100 =

QII. Fill in the gaps. (1x6=6m)
a. The length of a rectangle is 6cm and its perimet is 30 cm. Its breadth is cm.

b. A pencil costs Rs.7.Cost of 1% dozen pencds

c. 9kgs. 700 gms is kgs.

d. If 3km on ground is equal to 1cm on the map. The km on ground is 5cm on map.
e. A dog drinks 6 litres of water everyday. It drirks litres of water in 30 days.

f. The side of a square is 2 cm . If its side is dbled, then its area is sg. cm.

SECTION- D (Problem $olving) — 20M

QVI. Solve the problems. (2 x 10 = 20)

1) 1 Euro =Rs 82.50
a) How many rupees can be exchanged with 25 Euros?

b) Raj has Rs 495. How many Euros can she get from thamount?



2) Which will have a larger area?

A square with side 13 cm or a rectangle of length2cm and breadth 11cm?

3) Find the breadth of a swimming pool whose area isZD Sq. m and length is 40 m?

4) A company sells 1 litre of packed water for Rs.16A shopkeeper buys 560 litres of packed
water . How much does he pay?

5) Nine 5 rupee coins push 45 ml of water, then-

a) How many five rupee coins will push 20 ml of war?

b) How much water will be pushed up by 16 five rpee coins?



6) The following bar graph shows the top speed défent cars attain. Fill in the blanks with the
help of the bar graph:

180

£ 160

S~

£ 140

£ 120

g 100

o 80

% 60

B 40

[}

2 20

0
Maruti 800 honda city verna

a) The fastest car is
b) The Maruti 800 is km/hr slower than Verna.
c) The top speed of Honda city is km/hr.
d) is the slowest car.

7.Draw a square of 4 sq. cm. Write A on it. Draw aather square with double the side. Write B on
it. Answer these.

a) Perimeter of square B is cm.

b) Perimeter of square B is times the perater of square A.

8. 3825 books are to be arranged in shelves. If BSoks are arranged in 1 shelf. How many shelves
are needed?



9. Draw a chhapati chart for the given data.

Type of book | No. of children
Story book 40
Science fiction 20
Comics 5
adventure 15

Q10. Look at the price tag of the items given below

/ Y
Rs.7.5( Rs. J

a. How many balls can Raj buy for Rs. 10927

b. A pen costs Rs 7.50. How much will 3 and a half dea cost?
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OBSERVATION AND REPORTING (30 MARKS)

Q1. Choose the correct answer and fill in the blanks. ( 5x1=5)
(big machines, solar, fuel, goats, rebo, roof, sheep,
donga, ash, drought, arches, untied, girls)

1) We need...................... to pump the petrol out and clean it.

2) e and ...............oe. are Changpas only treasure.

3) The door and Windows of old houses have beautiful.......................

4) People today expect that ..ot can play different games.

5) The cut weeds are burn and their....................... is mixed with the soil to make
ready for sowing.

Q2. Observe the picture and answer the following. (2x5=10)
(a) What is this and what do you understand by this?




(c) what will be do when earthquake come .

(d) Explain the picture.

emg)

8
(e) Who is this and what had done by this man?

Q3. Match the following.

1) Boats can be seen in Dal
lake and Jhelum river.

2) beautiful carving on wood
that can be seen on the ceiling

of houseboat.

3) Some old houses have a
special type of window which

comes out the wall.

4) The doors and windows of
the old houses in Srinagar

have beautiful.




Q4. Circle the odd one out.

1. (a)Mizoram (b) Rajasthan
2. (a) petrol (b) diesel

3. (a)Sunlight (b) petrol

4. (a) torang (b) forest

5. (@) United (b) cooperation
6. (a) Tsunami (b) famine

(1x6=6)
© Uttarakhand (d) Jharkhand

© kerosene (d) wood

© coal (d) uranium

© jungle (d) desert

© team spirit  (d) fight

(c)flood (d) deforestation

Q5. Look at the picture carefully and answer the following questions. (1x5=5)

actionaid

Natural Resources - Knowledge Activist Hub

Our Forest Our Rights
Implementation Status of Forest Rights Act - 2006

(@) Do we really need to save forest? How?

(b) Explain the danger of deforestation.

© What are the benefits of trees ?

(d) What are women trying to save ?




(e) Tell me about forest act 2007.

IDENTIFYING GROUP AND CLASSIFICATION_ (25 marks)

Q6 1) Answer in one word. (8x1=8)
a) The tent made of yak hair in which changpas live is called a...........
b) Whenever air flows .......... the paper snake will move in a clockwise direction.
(o) I between the members is the strength of team.
d) Undhiya is eaten with ......... rotis.
e) Shortage of water and food can result in............
f) The smoke and smell coming from burning .......... is horrible and unhealthy.
g) In earlier times farmer use ............. leaves to protect the seeds from insects.
h) Baskets are woven from ............ and leaf plates are made from ............

leaves.
2) Give examples. (12x1/2=6)

a) Wind instruments

b) Two uses of petroleum

c) Why goats and sheep are Changpas treasure ?
1.

2.

d) Name two States which have thick forest.

e) Name two States which have less forests.

f) Name two places that are famous for boathouse.




3) Give reason. (3%x2=6)
a) Why is an earthworm called a farmer's friend ?

b) Why are forests are called collective banks ?

c) Who are identical twins and unidentical twins ?

1V) “Afsana has jump over the wall. The gender wall that her mother had put up
for her.” What was this wall and what do you understand by ‘gender bias’ ?

(1x5=5)
Ans.

DISCOVERY OF FACTS (25 marks)

Q7. Answer the following question in one sentence (3x1=3)
1)  Why do poor people in towns collect rubber pieces and old tyres ?

2) What is refinery ?

3) How are seeds protected from insect in olden days ?




Q8. Tick the correct answer (4x1=4)

(a) A boy is sitting under a table holding tightly during an earthquake.
Why do you think so ?

The table will walk like a parachute while the boy is one down.

He will be comfortable under the table during the earthquake.

It is easier to find someone trapped under a table or any other large subject.

H o=

The table will save him for heavy things like stones roofs or fans falling on

him.

(b) Suppose you are given hot Khichdi to eat. How will cool down without blowing
air from your mouth ?
1) By mixing cold water into it.
2) By spreading it over the plate.
3) By putting ice cube into it.

4) By spreading it over our palm.

(c) It is difficult to breathe at high places. why?
1. The body stops working properly at such heights.
2. Air is thin and at low pressure.
3. Due to cold , air freezes.

4. Nose has to work harder to breathe in air.

(d) The doors and windows of old houses in Srinagar have beautiful.....
1. Donga
2. Khatamband
3. Dab
4. Arches



Q9. Answer the following questions in two or three sentences. (5%2=10)
1. What types of difficulties are faced by people during floods ?

2. Why do we see drops of water on your bathroom mirror, when you take in hot
shower in winter ?

3. Who was Dr Bhim Rao Baba Saheb Ambedkar ? what did he become famous for ?

4. Why were girls not encouraged to play in earlier times ? what they are expected
todo ?

5. How did Jatrya suffer in sinduri village ?

Q10. Look at the data and give some answers.

(4x1=4)
Oil rate of 1 litre in 2008 In 2011
Petrol 50 66
Diesel 35 41
a) In three years the rate of petrol went up by......... rupees.
b) In three year the rate of diesel increased by........ rupees.
(o) I was the difference in rates of petrol and diesel in year 2008.
d) v,

is the difference in the rates of petrol and diesel in year 2011.



Q11 Mark and name the following states on the map of India.
a) Manipur
b) Mizoram
c) Rajasthan
d) Uttarakhand
e) Jharkhand
f) Gujarat
g) Jammu and Kashmir
h) Meghalaya

(8x1/2=4)
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